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main(){
int a[11];
ao int ;
al0], a a[1], & a[2] -1
for(i=2; i <=10; i++)
_ _ _ afi] = afi-2]+afa1];
ao=1, a;=1 anv1=antan1 printf(“a10 is %d¥ ,a[10]);
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#include <stdio.h>
main()X{
int A[10];
int flag;
for(I=0; 1< 10; 1 < 10)
scanf(“%d" &A[1]);
flag = 0;
for(i=0; i < 10; i++)
if(afi] == 3) {
flag = 1;
break; N - |
}
if(flag) printf(“3 is found¥n'); M|01234....-
else printf(“3 is not found¥n"); N M NN+1N+2.... >
} Nx M L
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int T[10*20]; X =T[i"20+j]
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int T[10][20]; x=TIil[jl;
[ Il 1 l...;
o 98
o 102
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char [ 11 l;
char S[10][20];
20 10 S[il[i] i
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strcpy strepy( 1,

) w[20]
i
strepy(w, s[i]);
strcmp stremp( )
-1 0 1
0
strcnp(sl, s2) ==
128
f(x) = 2x+1
X 2
C
{ int f(int x){
return x*2 +1,
} }
f(x) return main()
{intz,
; x = (10);
f(10) .
}
C
function (procedure)
strcpy  strcmp printf
C main()
[ ]
20 A B

(intersection)




